BB . sea

2. P B I R A T O E R — AT, e R
= 2B MBS . 2024565 H, ZENSSINT:

(1) RHEAREE ) NHETH 10005, ASHH
600070/ 5. GAZIENHEEBURRK. KA, I HH
(ER 2=

(2) WHERHBRELIATE1007k, FSEE307G 6. W
FABHRHEFR.

(3) ftRBEMNLIEHE AL, HFHEE R &
REE10)176, NP




Bl v zom

(4) ZAT3F MM E A FE, W _EAWE K27,
AR ESEASTRMEE1360/570, MUH —KMEBURIEAR
HRM 1205570, MAFHRKE.

(5) PFIFTHISE & R R, & Emt 5ok
BURIEWANS Fi 76 1%tk EF B ) TR 200 K40 .

(6) #OEEm—Ht, KBUERM S N1IT0 6. %
fem ko Sk, BURHEST H ik D AR AL L 2K 1

(7) R K—Ht, BASRER L K B & 481200 5
TG~ BiLE26 11 G .



BE u. zom

(8) NTTER a0 KM PRI, BRSMER T ARG
&8 176 BiN0. 4813 7T

(9) Waukps it —att, BASHMERL L A ZEW B Jo-
BiA0. 131376, 4 H D BEANE B2 AR I

CHARFRRBERE: 2 O R Ak i B R BIRLH 950% « 8
FRBLEN16%, MEERENERBIE Y1 %. )

TR AR LRGSR, %I N AINF R EE G, W
HEHIHE ST



BB v, s

(1) HEWVE (1) BB,
gz AMTIAIZI=6000 X 1000=10000X 13%=78 (FFIC) -




BB . sea

(2) HWn% (2) ZEFHEAMSH B ER I U 2
B WFIHE, THEREARHEIUBA.

TR AT R ERL.

Bl AR RS RN B2 R ATEN, AZHE
At o



JL

P XTAE

v LRA

(3> AWnLs (3) ZAFHEAASH B EB I HE
B WFIHE, THEREARHEIUBA.
B AT BN ER

ERi.

iRt . R B ANB N BB S S ik 1



BR u. som

(4) &N (4) B TR R N 2 h ) ENTERT
B2z, BYIBIEI=120X9%=10.8 (FHJT) -
W A IR ENZE A5 =360 X 0. 1%=0.36 (JFI5) -




Bl v zom

(5) HWAMESS (5 MBEST T I BRI B3 (E B Ak
BT

(o SIPCNEN AR AT L GRS TR R = ok T
TP Fh IR IEWON 2N 4% ISP A IR R AT 9 AT SR RIRE 1 I8
=4 I (E B 3k TR <&



BR u. som

(6) HEMF (6) #HORTEEPH P HREB. W
([E

Bk NN RAI=17T0X50%=85 (JiJ0) -

NSRRI e Bi= (170+85) + (1—15%) X 15%=45
(/s .

N B BE= (170+85) + (1—15%) X13%=39
(CHTB) -




BR u. som

(7)) W HEZAM5 A AT HCHI 3 TR A

Zr: IR A=39+26+0. 48—5+ (1+13%)
X 13%=64.90 (JijG) -

[527- Y Wk o b T AP BN RE L2 AR, 3R T5URE A0 A
et (BT BRI AR LA &, BT AR IAER]
HRHI IR F



BR u. som

(8) HZANSH M [\ 3B B 55 Hl < B i 240 1 (B i o
Rz NNM{ERI=78+10. 8—64. 90=23.90 (/L)



BR u. som

(9) HE iz A NS H I T 45 &2 WAL R B T
AN HE 5 208 PR

B R NGRS T 4E S i BB =23, 90X 5%=1. 20 (Jj
)

N ZS AN BR T b in=23. 90X 3%=0. 72 (J37T)

N B0 i H 5 250 B B n=23. 90X 2%=0. 48 (J35)

& 11=1.20+0. 72+0. 48=2.4 (/370) -



i WA
THANK YOU




